N of associated (recoToSim) looper tracks vs dxy

N of reco track vs dxy | N of associated (recoToSim) tracks vs dxy

2] 1%} [%] (%]
X x X X
Q Q [} Q
g g g 8
3 g 2
= 8 8
S 10
°
o
©
o ©
| B
i | ! .
0850 -15 10 -5 0 10 15 20 0%0-15-10 -5 0 5 10 15 20 %90 -15 -10 -5 0 10 15 20 08556 =15 - 20
track dxy (cm) track dxy (cm) track dxy (cm) track dxy (cm)
[N of associated (recoToSim) tracks vs dz_] [ of associated (recoTosim) looper tracks vs dz_|
2 2 M
Q Q Q
g g g
3 2 @
= 8 8
S
°

Ma

10 0 10 20 30
track dz (cm)

Ratio

T
M, .

0935 55 10 0~ 10~ 20 30 930 -20 0 10 20 30 09830 20 —10 0 o 20 30 530
track dz (cm) track dz (cm) track dz (cm)

2




	Contents
	Page 1


